TiERE . K-1
RE . TRIBR : EiEEA&A20%12*10cm Bfy : 1.00M
TRIEE B By = BE = IPEE
RIEERZ A 52 10.00 77 770
1:37K D3R = 1.00 20 20
W L E M 1.00 60 60
EETH = 1.00 10 10
M B & &f: 860 T
TiERE . KC-2
SRE . TRIBR : BiENAFEZA60%15*6cm Bfy : 1.00M
TRIEE Bt ==Kivi = BE 4B P EE
JEIE ARG A 53 1.67 282 470
ZAREEAFHRED LT = 1.00 150 150
1:37KBHPER = 1.00 20 20
W 1E M 1.00 60 60
EETH = 1.00 10 10
M B & &f: 710 7T
TEZME . KC-3
ke . T1RIBR : %A TFE&A60710*12cm Bfy : 1.00M
TRIEE B ==Kivi = B(E #a(E P EE
JEiE S ARG A 53 1.67 282 470
ZAREEAFHRED T = 1.00 150 150
1:37KERD 3R = 1.00 20 20
W 1E M 1.00 60 60
EETH = 1.00 10 10
M B & &f: 710 T
TR . KC-4A
$RE . T1RIBE : BiENATFEZA60720*18cm Bfy : 1.00M
TRIEE Bz ==Kivi = BE #a(E Py EE
JEiE ARG A 53 1.67 492 820
BARESAFRIER T = 1.00 150 150
1:37KERD SR = 1.00 30 30
W 1E M 1.00 90 90
EETH = 1.00 10 10
M 8B & &f: 1100 7t
TiERE . KC-5
SRE . TRIEE : BiERATEZA90°20%25cm {7 : 1.00M
TRIEE Bz ==Kivi = BE #a (g Py E
JEiEN ARG A 53 1.67 510 850
BAREAFRIER T = 1.00 150 150
1:37KERD SR = 1.00 30 30
W 1E M 1.00 100 100
EETH = 1.00 10 10
M B & &t: 1140 7T

620

620

970

1,000



TERM . KC-6A
SRR . TRIEH : MEAFE&A60*15*20cm EBfi : 1.00M
THIEHE HE B #BIE Py EE
RS FEgA 2 1.67 390 650
i AREAFRIER L = 1.00 150 150
1:3KEb iR 2 1.00 20 20
e LE M 1.00 80 80
DETH 2 1.00 10 10
M 910 7t
TR : KC-6B
SR8 TEIAEH : BERAFIEEA60%15*25cm Efy : 1.00M
THHIEH e EE #BIE Py EE
RS FBEZA 2 1.67 438 730
i ARETAFSRIED LT I 1.00 150 150
1:37KERER B 1.00 20 20
e LE M 1.00 90 90
ZETHR B 1.00 10 10
M 1000 7o
TR : KC-6C
S8 . TiEIAEH : BERAFIEEHA60%15*30cm Efy : 1.00M
THHIEH HE EE #IE Py EE
RS FBEZA 2 1.67 510 850
fZARETAFSRIED L B 1.00 150 150
1:3KietbiR B 1.00 20 20
e LE M 1.00 100 100
ZETHR B 1.00 10 10
M 1130 7o
TERH : KC-6D
SR8 TRIAEH : BERAFIEEH60%15*35cm Efu: 1.00M
THHIEH HE B8 #iE Py EE
BRSO FBEZA = 1.67 570 950
ZAREAFSIE LT U 1.00 150 150
1:3KiebiR B 1.00 20 20
HelE M 1.00 120 120
ZETHR B 1.00 10 10
M 1250 7t
TERHE : KC-7A
S8 TiRIEH : RERAFIEEA60%1520cm Efy: 1.00M
THHIEH HE B8 #RIE Py RE
BRSO FBEZA 2 1.67 390 650
fZARE A FSIED LT U 1.00 150 150
1:3KiEb i B 1.00 20 20
HelE M 1.00 80 80
ZETHR B 1.00 10 10
M 910 Tt

800

880

1,000

1,100

800



TR : KC-7B
SR . TRIEH : MEA FEZ&A60*15*25cm EBfi : 1.00M
THIEHE Bz EfU HE B e Py EE
RS FEgA 2 1.67 438 730
gARERAFSEYINT S 1.00 150 150
1:3KEb iR 2 1.00 20 20
e LE M 1.00 100 100
DETH 2 1.00 10 10
M B & &f: 1010 7t
TR : KC-7C
S8 TRIEH : BENAFIEEA60%15*30cm Efy : 1.00M
THHIEH AtAH MU e EE #BIE Py EE
RS FBEZA 2 1.67 510 850
i ARETAFSRIED LT I 1.00 150 150
1:37KERER B 1.00 20 20
iHEe LE M 1.00 120 120
ZETHR B 1.00 10 10
M E & &f: 1150 7o
TR : KC-7D
S8 . TiEIEH : BERAFIEEHA60%15*35cm Efy : 1.00M
THHIEH AtAH MU HE EE #IE Py EE
RERAFEGA 2 1.67 570 950
fZARETAFSRIED L B 1.00 150 150
1:3KietbiR B 1.00 20 20
iHEe LE M 1.00 140 140
ZETHR B 1.00 10 10
M E & &f: 1270 7o
TERH : KC-7E
SR8 TiRIEH : BERAFIEEH60%15*40cm Efu: 1.00M
THHIEH AR Efu HE B8 #iE Py EE
RS bOFEZA = 1.67 636] 1,060
ZAREAFSIE LT U 1.00 150 150
1:3KiebiR B 1.00 20 20
HelE M 1.00 160 160
ZETHR B 1.00 10 10
M E & &f: 1400 7T

880

1,000

1,100

1,210



